Stat-319                                                                   Quiz 5                                        Sec:03                                                                                                   
Name:                                                                         ID#:                                          S.No.
1. The deflection temperature under load for two different types of plastic pipe is being investigated. Two random sample of 15 pipe specimens are tested, and the deflection temperatures observed are reported below 
	Type I 
	                                                      Type II 
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	193 
	192 
	                                                      177 
	176 
	198 

	188 
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	185 
	188 

	205 
	185 
	194 
	                                                      206 
	200 
	189 

	187 
	189 
	178 
	                                                      201 
	197 
	 203 

	194 
	213 
	205 
	                                                      180 
	192 
	195
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a. Do the data support the claim that the deflection temperature under load for type II exceeds that of type I? Use α = 0.05.

b. What assumptions did you use in solving part a. 

2. As an aid to the establishment of personnel requirements, the director of a hospital wishes to estimate the mean number of people who are admitted to the emergency room during a 24-hour period. The director randomly selects 64 different 24-hour periods and determines the number of admissions for each. For this sample, 

 and s2 = 25. Using the sample standard deviation as an estimate for the population standard deviation, what size sample should the director choose if she wishes to estimate the mean number of admissions per 24-hour period to within 1 admission with 99% reliability,?

3. A wealthy real estate investor wants to decide whether it is a good investment to build a high-end shopping complex in a suburban county in Chicago.  His main concern is the total market value of the 3,605 houses in the suburban county.  He commissioned a statistical consulting group to take a sample of 200 houses and obtained a sample average market price of $225,000 and a sample standard deviation of $38,700.  The consulting group also found out that the average differences between market prices and appraised prices was $125,000 with a standard deviation of $3,400.  Also the proportion of houses in the sample that are appraised for higher than the market prices is 0.24. What will be the 90% confidence interval for the average market price of the houses in the suburban county constructed by the consulting group?

4. The dean of a college is interested in the proportion of graduates from his college who have a job offer on graduation day. He is particularly interested in seeing if there is a difference in this proportion for accounting and economics majors. In a random sample of 100 of each type of major at graduation, he found that 65 accounting majors and 52 economics majors had job offers. If the accounting majors are designated as “Group 1” and the economics majors are designated as “Group 2,” construct a 99% confidence interval estimate of the difference in proportion between accounting majors and economic majors who have a job offer on graduation day.
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